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Instructions for the candidates :

1.. Candidate must enter his / her
Question Booklet Serial - No.
(10 Digits) in the OMR Answer

Sheet.

2. Candidates are required to give

their answers in their own words
as far as practicable.

3. Figures in the right hand margin

indicate full marks.

4. 15 minutes of extra time have

been allotted for the candidates to
read the questions carefully.

5. This question booklet is divideu

into two sections — Section-A
and Section-B.
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6. WUg-3 H 70 awqfves wyv § 6 In

a4 @ fa=gt 35 wvat &7 397
g7 AfFard &1 3s yvaf @ s
F I 39 W T¥T 35 &1 &
el gI1 9% F e 1 o
fraia &1 @91 3T W & faw
YTy FX4 T OMR IFTH-T3% o
e mg wel fawew WAt/ w
T 97 I gmE F1 feat
WS & WA / a7 uaqref /
g / AGT AT FT OMR Iev-
g ¥ JGhT & 741 8, sr=rer
et gRvTe ST BT

. @UT - § # 207G IWT 99T
& 1 998F & fom 2 oF FrfRa &
fr7d & fe=sT 10 a9+ &7 s@v
T fvard & | % IR e
GUT ° 6 T IwviT 9y g g
g, 7% & oo s arw fuiRa &
fd @ fe=T 3 9vat-@r 397 3=
frard &1

. [l g & gAFEIH IYFIT F 8.

sanT gofear afsa &

Section-A, there are
70 objective type questions, out
of which any 35 questions are
to be answered. If more than
35 questions are answered, then
only first 35 will be evaluated
Each question carries 1 mark
For answering these darken the
circle with blue / black ball pen
against the correct option on OMR
Answer Sheet provided to you.
Do not use whitener / liquid /
blade / nail etc. on OMR
Answer Sheet, otherwise the
result will be treated invalid.

. In Section - B, there are 20 short

answer. type gquestions, each
carrying 2 marks, out of which
any 10 questions are to be
answered. Apart from
there are 6 long

these,

answer
type questions, each carrying
S marks, out of which any
3 questions are to be
answered.

Use of any electronic appliances is
strictly prohibited.
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Uy - A / SECTION - A
Eﬂﬁﬁ'—l‘@ U¥H / Objective Type Questions

gvT G 1@ 70 % & gl gyT @ gy g fawed [y w2, ﬁamir'ai.
@ wet &1 9 FRT g7 ny @ faweq wt oMR iz ¥ fafgaa &% fe=l
35 Q¥ &T IAT &1 35 x1 =235

Question Nos. 1 to 70 have four options, out of which only one is correc

You have to mark your selected option, on the OMR-Sheet. Answer uity

35 questions. 35x1=235
1. 20 cm B g & 3T AW hl &7Hdl &l

&) - 10 TA (B) + 10 ST

(C) -53ARY (D) + 5 TAM

The power of a convex lens of focal length 20 cm is

(A) - 10 dioptre - . 4B) + 10 dioptre

N
: Q :
(C) -5 dioptre 8’6 (D)  + 5 dioptre
i . |

2. mmwg@?ﬁqﬁaﬁqmﬂﬁ%mﬁm qefad gl @

(A) W A A (B) i1 @ wra H

(C) 19 I H (D) ®HEHAIAYH

The total internal refraction of light is not possible when light is

refracted from

(A) glass into water (B) water into glass
(C) water into air | (D) glass into air
[117]A 88-013 Page 3 of 32
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3. TuoH BT W4T Y @l algd @) e el €

(A) TR (B) 3
(<€) Fui-faagor (D) feera
The .process of splitting of light into seven polours through prism ig
called
(A) Reflection (B)  Refraction
W Dispersion . (D)  Diffraction
. .

4./ A& et &1 H BROr R '
(A) TEM R WEH (g W%Tamﬁéq _
(€) SR T TR (D) ummwaﬁﬁaﬁ‘w
Blue colour of sky is due to

(A) - Reflection of light (B Refraction of light

Mcattermg of gﬁl?t (D) Dispersion of light
5. ﬁnﬁ@ﬁq%ﬁ’mmﬁwmwmﬁqm% ?

() Taﬁﬁﬂ@ (B) s
(C) wAfawm (D) STl e ST
Which of the following pheuémena of light supports its quanturn
nature ?
(A) Diffraction (B) Polarisation
(C) Interference \9/ Photoelectric ei:fect
[117 ] A

88-013

Page 4 of 32

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

6.

(2

\:gP Zero ' (B)  Positive and uniform

AR e @est Wit e @ smafer fn SO A SEh S )

forvrar g
(A) I3 (B)  YAIEISH U AHEY

(C) U W sraawy (D)  TEUTFH A9l UHET

If a hollow spherical conductor is charged with bositive charge, the

potential inside it will be

(C) Positive and non-uniform (D) Negative and uniform

et e R 3 Frdt g W Frer el e Frer wrradt st @ g

(A) R[H | (B) HA~ -
C) gTeHw (D)  TEOTeeh _

The algebraic sum of electric current meeting at a point in open

electric circuit will be

'_,m]/ Zero g\\Q@ (B) Infinity

(C) Positive \Q‘b“ (D) Negative

mﬁ?@mﬁmwwmrwwm vaa

A) T«V B) TxV?
(C) Tl (D) T 1
v V3
If T is time penod and V is maximum speed of a charged particle in
' 4

cyclotron then /

(A) ‘TocV B) TV’

1
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9.

10.

11.

ferdt et W Eﬁgﬂqm-qymﬁqﬁmwﬂiqmaﬁaaﬁm
ST AT (V,, ) 1AM B

- LB . oB
-_£= __et
A Vg=-T0r T _ B VaT"Tn
. .3 I
C =£5 | _eL
€ Vy=", T O Vu="h
- :
The drift velocity (V,; ) of free electron inside the conductor placed in
an electric field E is given as
S LT 5 eB
._ ek -_E€L
A Va=mT T B Va=TTm
> oR 5> B
_ecr. = &=
© Vy=== D) V==
U 3TEY ST 1 FiAY el ¢
(a) %3 gy @) e ety
) I i (D) 3 e
The resistance of an ideal ammeter is
(A) high resistanc@ (B) low resistance
S
(C) Zero rcs1s@§: (D) infinite resistance
zrrceﬂg?&@ i ameie & o9 %1 B0 Feo §
(A) qq:r%m ® A

(C) =& H Qs 9H (D) AT AET IO

The angle between magnetic meridian and geographical meridian is

called
(A) angle of dip
(B) declination

(C)  horizontal component of magnetic field

(D)  apparent angle of dip
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12, Qﬂ?mﬁrwﬁrﬁuR%luﬁﬁmmmaﬂﬁmﬁmaﬁﬁm

gferchy gk
(A) 2R (B) 4R
(C) . 8R . (D) 16R

The resistance of a wire is R. If the diameter of the wire is halved by

stretching it then the resistance of the wire will become

M%R | & 4x

€ B8R | (D)  16R
5. Rl ¥ iR gae § o i wele duie & R A w8
i g |
@ I | ®
) Tov@aiaR (D) i
The quantity, which is same for each condenser for parallel grouping
of condensers is g\\Q&Q
(A) charge Q\Q‘b&) (B) energy
S ﬁatentﬁ\%diﬁerence (D) capacity
14. oM w1 fafire oA g §
A) 1:8x10%°C/ke B) 167x1079C/ke
€ 1-8x10'C/kg (D) 667 x 10“_(:/1cg

The specific charge of electron is

A) 18x10719C/kg \/[eg/l-e.? x 1071°C/ke

(C) 1-8x10!C/kg (D) 667 x10''C/kg
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15, PRt ST g & s w fdes geel A GO B Wy

S$EI: N T N, B A

(A) N,>N, (B) N, >N,
€ N=N, (D) Nl:'ﬁl_—
' 2

In step-up transformer, the number of turns in primary andg

secondary coils are N, and N, respectively then

(&)  N,>N, : B) N,>N,
C N,=N, L1
(C) 1 ) {D]' Nl Ng

16. ugH R 3R 7 smaw @ Feeraret dyul fomm worem w1 AE @

(A) e B) . (eg)!
€  (4neq) (D) * 4rne,
N

The total electng gy,%%%mmg out from statmnary umt posnwe charge
in air is \Q‘b§
A Nl -
{ ] EO {B I:Eo ] .

« ',
(C) (4n &, ]"1 (D) 4n e,

L]

17. 54waﬁﬁiﬁmaﬁuﬁm5ﬁ% et o et 3% T §)
o3 §5 o uifiea wm At 2

(A) 25 uF (B) 4 uF
(C) 164 uF | (D) 20 pF
[117]A : 88-013
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18.

- 19.

64 identical drops cach of capacity 5 uF. combine to form a big drop.

What is the capacity of the big drop ?

(©) 164 uF . (D) 20 uF

ﬂﬁmﬁupvﬁm%?ﬁqwﬁiw%immwwam
stfushay uiftar 5 &

(A) 3 uF, 12 pF (B) 2 uF. 12 uF

L

(C) 2 uF, 18 pF (D) 6 uF, 18 uF

Three capacitors of capacitance 6 pF each are available. The

maximum and minimum capacities which may be obtained by them

arec
(A) 3 pF, 12 pF “B)  2pF. 12 pF
@®
(©) 2 ;.LF 18 ul%z, - (D) 6 uF, 18 uF
ﬁmﬁﬁaﬁ%@wmaﬁ%wmﬁﬁﬂﬁﬁ% ?
(A) TR fHl B) st fRRor
(¢ T el D) o feeo

-

Which of the following rays is not deflected by magnetic field ?
(A) Al‘pha rays (B) Beta rays

(C) Gamma rays (D) Positive rays
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20, A $gel @ ARG U §

(A)  90° B) 1
< 0 (D) 180°
The power factor of choke coil is
(A)  90° B 1
uf o (D)  180°
21. am-wee f5ag % g g1 ¢
- — - —
= Bg dixr B d_§= dixr
() dB= 1= (B) Ho =3
- - c_ili' -
> xr
(C) cl_b::'fr ‘”’;’ (D) dB=p, —
&
N
8 |
The mathcrr@al formula of Biot-Savart law is
S5 Cdlxr B dbep, 4T
() dB=g - ( o —3
- - - -
= Hg dlixr - _ dixr
© dB=2 11— D) dB=p, —
22, fober
(A)  FTIEEE B) SR
(C) e TEEHd D) 7 | &g T
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(C) Ferromagnetic (D)  None of thesce
23, U NS 9 & URAF 1 F) Gl B 20 om A4 o5 & W@ @l
HAIFAAH 1-5 & | o9 F BHd g0 3
(A)  20m B Lm
20
(C) 20cm D Lem
20
The radius of curvature of each surface of a biconvex lens is 20 cm
and the refractive index of the material of lens is 1-5: The focal length
of lens is
A) 20m B} L m
- 20 .
(C) 20 cm + (D) -——1— cm
20 .
24, I Sl U (&7 Hre i 3)@q1_:ﬁ(3qq=;|ﬁ:ﬁaq=iﬁ
.@qaﬁﬁlﬁ 3 )
FeRor Tt ¥ W@W &1 AW &I
- Q -
sin 1[§§ B) sin"!(/8/9)
C 8 in![2
(C) sin” [QJ _ (D) Sin (7]
A ray of light travels from glass ( refractive index = 3 ) -into water
(refractive index = % ). The value of critical angle will be
(A) sin_!(%J , B sin'({879)
~(©)  sin” (g—) (D)  sin’! [-5)
o 7
g 117] A |_88-013 Page 11 of 32
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25. TR SRl & o fed fag W weEEen & RROT % dy

FHeAla &dar
A) I | 3
© = o =

For constructive interference, the phase difference between two rays

reaching at a point is

(A)  zero ' (B) E
| 2
© = o) 32
(26, TS € R & Tetegi aur B w6 &I |

TV - B) e

(€ Ham ' (D). * Hlvlg A

| N
For same wavelengﬂé&electron and photoni which will be the same ?
& G
(A) Vdoctt%)&% (B) Energy
\521/ Momentum (D) . Angular momentum

27. zmma@mﬁ%ﬂﬁ#ﬁwﬁsﬁaﬁmaﬁm
ETATAT gt &

A z2% B z%
c z'% D) z72=%
" _
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: in any given
For any atom of atomic number Z, the energy of electron 1n 2 yg

orbit is proportional to
) z? B) Z
77 o) 27
28. pmﬁaﬁiﬂmﬂvﬁ%%{qmﬁa’aa%mﬁmmm?
(A) A (B) [EE™
C) i D) HERRE

The impurity element used for p-type semicunductors is

Cy Boron ) Bismuth
Arsenic ﬁ Phosphorus

29. ﬁ%ﬁﬁ%ﬂﬁaa%ng%é\amgmmﬁﬂm

3HF
‘ Y 4UF
Ao L ||—B
i1
: 17
2HF
"~
(A)  9wF > B) 1pF
© L & (D) < WF
S
The equivalent capacity between A and B in the figure given below
will be
3HF
| | 4HUF
Ae—— : — |—eB
I
11 :
2HF
(A) 9 uF (B) 1wF
20 | 1
C =—uF D = pF
(C) 9 M D) gk
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30, wred g gfd & S ugn gl &

(A)  HGATH & feo
B) fenigelvrm & fom
€ FTeF=wF oo

(D) HIgPR™ U fesitgeivm ql % few
Modem is a device used for

(A) modulation

(B). demodulation

< recﬁﬁcation

(D) both modulation and deﬁodﬂlatjon

31, + 10 uC T - 10 pC & 3 fag AW A F WER 40 cm 1 T ®
r@i’flﬁmaﬁréqa@mmwﬁﬁ?

(A) 2253 (B)  2-353
| &
(C) -2253 g\\ (D) -2:353@

S
Two point cha@%é of +.10 uC and - 10 uC are placed at a distance
of 40 cm i

@§ir. What will be the electric potential energy of the

system ?
(A) 2-25 joule (B) 2-35 joﬁle
(C) -2:25joule ' (D) -2-35 joule
32, 9Yq fyye #t Freiir fafa of forpe fav e @
1 pcos0 1 p
A B =
A) dne, 2 (B) 4ne, r2
1 p
C £
) dney r (D) S
[ 117 ] A 88~01_§j Page 14 of 32
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The electric potential in cquatori

al position of an clectric dipole is

P
2

agr

(a) L pcoso 1

4rn €9 r'.z [B) :&T e
(C) l_»p

4 € 1 (D) Zero

33. 60 W T 40 W & 3t oo afg Aofery § W it ot 39 afinford vifm

it
(A) 100w - (B} 2400W
24 W

(C) 30w | , (D)

When two bulbs of power 60 W and 4 W are connected in series,

| ’ : « e
then the power of their combination will be
(A) 100w ‘ (B) . 2400 W
(C) 30w \\QQ ) Mw
S
34. Wi wiqaa ﬁ@%
Sile ,
(A) X, =2nfL (B) X, =2nf°L
C) X, =2nfL? (D) X, =2nf?L?
'Indluctive reactance is
(A) - X, =2=fL B) X, =2rnf°L
€ X, =2nfL" D) X, =2nf1?
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35. TF AR H 1A WU vaifwd @ W 81 dk soldeE W gy |
16 x 1077 C &, at wf Q¥ ar o yarfed geaeHl @ @@ € |

(A)  0625x 10!3 B) 625x10'®
(C) 16x10719 (D) 16x10'°

The current following in a wire is 1A. If the charge of an electron g |

19 .
1'6 x 107°7C, then the number of electrons ﬂowmg through the wire !
per second is ’ 1

(A} 0-625x 1013 B) - 625x 10'8
(C) 16x107!° D) 16 % 10'°
36. qmﬁu@asﬂf@ﬁ(m;wmmﬁﬂmwmww
I () T HE T
- o o ' . - Y
(A) . I'I:=mxB . (B) 1:-_r-§xm
€ =1 O T=m-B
B - ~
™

| The torque {1: ) @;cneneed by a current loop of magnetic moment

( rn] placed 1%<§1agnet1c field B is

@ .
@ c=mxB ® 7-Bxm
€ == D) t=m.B
B
37. IR WY i wgha
A fer B) I
(€ &q (D) =T 8 W faef

[ 117]A 88-013 |
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The susceptibility of paramagnetic substance
(A) is constant (B) IS Zero

(C)  is infinity (D}  depends on magnetic field

38. SMEAH! & W w1 fagi s ¥
(A) YN FFHIuomE R (B foga-gEeg R W
(€) Aa grEwE W . (D) @ fRE W
The working of dynamo is based on the principle of
(A) heating effect of current
(B) elec&o-magnetic _induction
(C) induced magnetism

(D) induced electricity

39. L-RURUY & wifk 7otk &a &

(A) R+wlL  (B) R
' JR2 +w? L2
O ® L
€L RyR?+w %6 O =
The power fact@nf L-Rcircuit is P
R
A R+wL (
A N Q}V JR2 +w? [?
(C) RyR2+uw?I® (D) :%

40, e ur aRuy # af 9wt 1 U6 s v % S weliel ¢ @) at
F1 IIZEH g g

(A)  Icos¢ ' (B) [Itang

(C) Isin¢ (D] I cos? o
[ 117]A 88-013 Page 17 of 32
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In an alternating current circuit, the phase difference betwe,,
current  and voltage V is ¢, then the wattless component of curren,

will be
(A)  Icosé¢ (B) Itan¢
y Ising | (D)  Icos?¢
41. Al F IR & B, § Ak fredt graw g # ot o a, @
(A}  n«<B, B n?«By
© ne<By? P lepe

In earth’s magnetic field B,,, if the frequency of any magnetic needle

is n, then
(A} ne«<B . \V n’«cB,,
(C) n«B,? g\@@ (D) ngxé
Q
42, g'ea‘ifé:qmaﬁ% T FHH 0T HT AF el &
S +
4 0 (B) 45°
(€ 90° | (D) 180°

The value of angle of dip at the earth's magnetic pole is

4 o0 (B) 45°
Jm/go'* (D)  180°
[ 117 ]A 88-013 . Page 18 of 32
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43. U I o9 (n=1:5) B UFN (0= 133 )T A AGT 2, 7 W

AR FHAT &
(A) I &9 ! G1® (B) 3Fde A &) dE
© B st o (D)  3aet Q4T Y e

A convex lens ( n = 15 ) is immersed in water ( n = 1-33 ). It will

behave as a

(A)  convex lens (B)  concave lens

(C)  prism (D) - concave mirror
aa. i 3 frae sradie wad o d & 2

(A) @I (B) Ul

(c) e D) EN

Which one of the following has maximum refractive index ?

A) Gl (B) Wat
(A) ass \§® (B) ater

: N ). .
&
| (C) Iron Q‘§ &]/ Diamond

g

i4s. m*m@aﬁﬁgm%mwaqum
ST 8 ?
@A) e g g B) I gfee g
(C)  3ffagehar (D) NI gfe qw
Cylindrical lenses are used to correct the éye defect cilled
(A) Myo_m) y - Mypermetropia
(C)  Astigmatism - (D)  Presbyopia
[117] A 88-013 Page 19 of 32
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46. JR’H EAR E\ﬁ UT h] <hI{0] _T?:
. . ;.:rr[
(A)  3EH aoRH B) T

(C) TR Hel (D) 5'“ b

The colour of visible light is due to its

_\){@/ wavelength (B)  velocity ;

(C) phase (D) amplitude
47. Fee g e @ ofe gt W e e €
(A)  TAHR B) SeMBR |

© (D) T

The wavefront due to a point source at a finite distance from the

source 18 |
(A) ‘spherical . \\@ (8)  cylindrical ‘
S
(C) plane \Q‘§ (D) circular : l
QQ
48. E % v W o ¥ |
(A) el WA B) as Jww

(©) el @ A (D) el o8 %3 wagn

The solar spectrum is /

(A) cantinuous spectrum (B) linear spectrum

(C)  spectrum of black lines (D) spectrum of biack band
= Dand

L]
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1

49,

forem T v foned) e Ofdea wart &) wofer s wrifv wior @ i
& S R, 38 wEa

(A 3wy B WAy
(©) 3l D) & i

The time during which radioactive substance becomes half of its

initial amount is called

(A)  Average life - (B)  Half-life
(C) Time-period . (D) Decay-conétant
g Sg | SAGreid o e oy )
(A) TG E (B) . T §
) Iiafaa wa e (D) A ET®
N -
With the increas%% temperature the specific resistance of semi-
o
conductor $§
@.
(A) increases \9/ decreases
(C) remains constant (D) becomes zero
51. gt & frdl ®H W TF TV WU TER @I HUR 245 m €1 fead

afehar gU qe 3 21eR I THRT 9= 2
(A) 245 m ‘ (B) 245km
(C) 56 km : (D) 112 km
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The height of a TV transmission tower at a certain place on the cury

is 245 m. The maximum distance up to which its transmission ¢,
be received is

(A)  245m (B) 245 km
(C)) 56 km (D) 112 km
52, Todll W orafem @ smafem & A g W P A B1oves
S A gl S H W e ww @ A @
(A) 4F (B) 2F
1 1
C -~ F —
(C) 4 (D) 5 F
Electric force between two charged particles situated at any distance
is F newton. If the distance between two becomes half, then the value
of electric force will be
(A)  4F B) 2F
1
c 1lg 1
o (C) a (D) 5 F
53 a3 9t 1= wE B
8 A
0OA .
Q
N
@q 16 A I
\Q‘G
Q@Q 8 A
A 8A © (B) 10 A
C 12A (D) 14 A
" The value of current J in the figure is
8A
20 A
4A 16 A I
8 A
(A)  8A (B) 10A
C) 12A (D) 14 A
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s4. T (25 W, 200 v ) A ( 100 W 220 v ) fegn mar &1 39 @ ferwen
afeY wmey /e
(A) 25w (B) 100w

© T H R B ) T R F

Two bulbs (25 W, 220V )and ( 100 W, 220 v } are given. Which has
higher ;esistance ?
(A) 25 W
By, 100w
(C) Both have equal resistance
(D) None of tﬂesc

55. ¥ w1 o amee wot T e
(A) ‘el’l'&fq"ra'{mg\\@ | B) eaAme g
(C) = e m&s@% (D) fawemmt gy

S

The e.m.f. of a cell is measured by
"{A) a voltineter (B) a galvanometer
(C_] an ammeter (D)  a potentiometer

56. I T WAYdiF g1am &
a) o N B
© 1 - D) -1
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The dielectric constant of metal is

(A) O

B ®
<) 1 (D) -1
57. Fitaw S Hl R At ¥ Seearet 91 B wed §
(A) T ek ®) ' e
©  gEEER o) HX
Instrument which converts mechanical energy into electrical energy
is called |
(A) Indt;cﬁon coil (B) Dynamo
(C) Tra.ﬁsfonner (D) . “Motor

58 T el g Y 3w &, o e ok s A st @ &
| Wﬁﬂ?t{a‘eﬂu{@@ - (B) mwm
(C) mﬁaﬁ@w (D) SHIUH Tg oLl

When we see an objcct the image of the ob‘]ect formed on the retina is

. (A) real and erect . (B) real and inverted -

(C)  virtual and erect (D)

50. ferrett =afaetor d quiar gar &

virtual and inverted

(A) (n+1)A (B) (2n+1)A
©  (n+k D) -“’i;” -
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The path-difference in destructive interference is cqual to
(A) (n+1)a (B) (2n ¢ 1)2
(C)  (2n+1)2 D
2 B =5
00, I (v ) g @

(A)  HIT (B) TGl

() Tavaiay (D)  Fl

Electron-volt ( eV ) measures

(A) current (B) charge

(C)  potential difference (D) energy
61.  EIGNH WaH &I HI9-9 07t 539 9T et & o

(A) ST SOt Q (B) #Fe Sof

S
(C)  @TZHA ol S (D)  UIvEH Ut
N

Which spec@line of hydrogen spectrum lies in visible region ?

(A) Balmer series (B) Brackett series

(C) Lyman series (D) Paschen series
62. [a=ifeifaa o frge! su=-emar mewm et & 2

(A) g feRot (B) g feyol

(C)  3TRT fepvor : (D) T feRgot
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‘trati ower ?
Which of the following has maximum penetrating P

Cathode rays

(A) X-rays (B)
(C) o-rays (D) y-rays
63. qﬁ-aﬁﬁwmﬁaﬁﬁ&wa@ﬁsoﬂz%,ﬂﬁ“hmﬁm
(A) SOHz (B) 100 Hz
() 25Hz (D) 200 Hz
In full wave rectification, if input frequency is 50 Hz, then outpul
frequency is '
(A) SO0Hz (B) 100 Hz
(C) 25Hz (D) _200Hz
64. Wﬁﬁ@ﬁﬁwmﬁaﬁﬁqﬁﬁm% ?
(a) e \@@ B) TEH
(€ 3w ﬁg\g‘z& T o)
Which of t.h%g?ollowing is not accelerated by electric field ?
(A}  Proton (B) Neutron
(C) o -particle | (D)  Electron
65. Y-aui & T aafer dhan g el
(A) 100 MHz q s (B) ~ O0MHz § ®H
() 105.MHz q AH (D) 1500 kHz ¥ FH
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Frequency range for ground waves should be

(A) more than 100 MHz (B) less than O MHz

(C)  more than 10° MHz (D)  less than 1500 kHz

it IR I oA FY ohETs TG U SaH &

[ 60.
(A) ot & (B) HedtE
(C) el Koret @ (D) ¥ @ Sl ®
On increasing the length of the tube of compound microscope,
magnifying power
(A) increases (B) decreases
(C) does not change (D) becomes zero
67. wﬁmﬁqﬁuﬁ@ﬁg;ﬂmﬂwmﬁ(%}ﬁmm%
5 \Q‘&‘% 6
== L = — L
A L, 6@@ ®  Ln=gl,
© L,=L, D) L, =2L,
The relation” between geometrical length {Lg] and magnetic
length (L ) of a magnet is
o _6
(A) LngLg (B) Jflm—sj.'.ﬂr
(C) L. = Lg . (D) L, :2Lgr
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68. A wlpaar & s @
(A} MeV (B)  w.m.u
© g © T
The unit of radioactivity is
(A)  MeV (B) am.u
© curie (D) joule
69.  THIOT H A AT &
(A) .Qﬁ\ﬂﬁ q B) EREEAH
© smd (D) Hen

Attenuation is measured in

(A) decibel (B) symon
&
(C) ohm g\\ (D) tesla
>
70. Y[ chicaw g\@%?m—ﬁ STERR Il ¢
| (A)  FEATETH, AET B) YIEH Wl
(C) FUEE | (D) T | HIE T&

At O kelvin, the semiconductor behaves like

(A) - a semiconductor ' (B)  agood conductor
(C) a bad conductor (D) none of these
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@veg - ¥ / SECTION - B

g AT Uy / Short Answer Type Questions

UrT §EqT 1 ® 20 g gadg & 1 et 10 At & e § 1 w@dE @

2 ¥ fraiRa 2 : 10 x 2 =20
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each
question carries 2 marks : 10 x2=20
1 Feer foga ofmer w2 2
What is electrostatic shielding ?
,f'/ e Tl MiekivesT @ @ 2 T S A ford 1 1+1
What is resistivity of conductor ? Write down its SI.unit.
S/ U IE § 3w wwew & 2 2
- What do you mean by power factor ? _
4.7  Shiiceh VT TUT qEcHiE & ST G G | 2
Write down the relag%'a{j'?ship between critical angle and refractive
index. &6
o

u%qraamrqa%gg 3 ol 5 ford ' L+

Write two properties of diamagnetic substance.

o] faetaor &ar & 39 a1 gHed § 2 2
What do you mean by dispersive power ? '
SIS & ATTHTOT d EYTH ek 97 & 2 - 2

What are the necessary conditions for interference of light ?

ymmw%?wwmnma 1+ 1

What is polaroid ? Write its-one application.
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gra ao @ o

What are microwaves ?

\/ AT & 9R e @ faan fond |

13.

14,

16.

17.

18.

Write Fleming's left hand rule.
fara paswla aor = ¥
What is electromagnetic wave ?

SN a1 &1 ¥ )

What is Lorentz force 7

yeaTert YR aftay § wigemr oe wfaad @@ ¥

1+ 1

What are impedance and reactance in alternating current circuit ?

Y = B 2

e o fyeltae dguaw § iR W i)
Differentiate between primary and secondary rainbows.

wﬁﬁ@ﬁammm-ﬁwﬁwuo* uld oy &1 ITH F<-

-

2

The decay constant of a radioactive substance is 52 x 10> per year.

Determine its hal -{@ |

T e I 7 AR § 2 S v T S A

QT ... . . : !
What are t \condltlons for total internal reflection ? Write an one of
y |

its practi&l applications.
T YR g E 7

What are eddy currents ?

Az fa @ ot o qot st wad & o s o 300 3

dl 30 Qe | YR i 9fd @491 g 2

>

If the critical angle of total internal reflection from vacuum to any

medium is 30° what will be the value of speed of light in thej

medium ?

J—

[ 1
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1o, @ WA w1 @i s e 20 v Eers @ sA @ MR el (2

gt < ARy wE: 10 v 8 @ gl, af drt afady wr wrr e &

2
The current flowing through the parallel combination of threc

resistances connected to 20 V supply is S5A. If the resistance of two

are 10 Q and 8 Q, then find the value of third resistance.

20. SR i TR FET W T H G § 2

What do you mean by Bohr's stable orbit P -

e ST W / Long Answer Type Questions

-m#wm#zsﬁﬁam%mifﬁrﬁswﬁé;mé‘fm%

I%I'Q'Smﬁﬂfﬁ?é': : 3x5=15

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any

3 questions. Each question Q'f.e:s S marks : Ix5=15

. NS _

21, T ¥ WG g w1 ' 2+3
| $

State and prove Gauss's t.hcdrt-m.
22, Fol-faguur (fea femem | @ ?ﬁu_ﬁﬁﬁwﬁimsﬁmﬁmaﬁmﬁ
HI T HY | 2+-3

What is deviation without dispersion ? Obtain the conditions of

deviation without dispersion by two thin prisms.
\2;( forera qrarYg SR @ Wt S & Fram @t sme S 5

Explain Faraday's law of electromagnetic induction.
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24 Th firs & Fﬂ'Q W f armerdaien T feoq A #

. [A+Om
sml

p=- 2
()
2

Show for a prism that the refractive index y is given by

. [A+'8m '
sSin
2

n= , where symbols have their usual meaning.
sin( J -

) mu%a’rammm #Y ¥

N

25, Wﬁf@%ﬁﬁ%w%wwmwﬁqmw

HL 5

Find out the expression for magnetic field due to a bar magnet in
broad side-on position.

2. W%Wﬁ@@%m%ﬁm%ﬁmmfﬂ@mﬁ

G"rm’srf%rw%|\%‘§

Q 2+3

State Lenz's law. - Show that Lenz s law is a direct consequence of law

of conservation of energy.,
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